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1 et 779,613 107 7,286 3 1 57 13,677 3 2
2 £ [ i 263,728 55 4,795 13 9 27 9,767 12 10
3 ik 187,021 48 3,896 20 13 22 8,500 15 12
4 s HET 95,147 15 6,343 4 2 10 9,514 13 11
5 — & 94,521 19 4,974 11 7 8 11,815 6 5
6 & T 80,297 20 4014 19 12 11 7,299 19 14
7 e 78,111 15 5,207 8 5 5 15,622 1 1
8 A B 57,111 13 4,393 15 10 7 8,158 16 13
9 r AT 54,605 17 3,212 25 17 4 13,651 4 3
10 T 51,915 22 2,359 29 20 13 3,993 29 20
11 + HETTH 50,164 17 2,950 27 18 10 5,016 26 19
12 TR 48,091 9 5,343 7 4 4 12,022 5 4
13 Fa] 2 B 1 40,860 8 5,107 10 6 4 10,215 9 7
14 S 40,534 14 2,895 28 19 4 10,133 10 8
15 T Bt 39,500 8 4,937 12 8 4 9,875 11 9
16 fETh 34,363 9 3,818 22 15 5 6,872 21 16
17 N 34,062 8 4,257 17 11 5 6,812 22 17
18 wet 30,828 8 3,853 21 14 3 10,276 8 6
19 fE N 28,043 5 5,608 5 3 4 7,010 20 15
20 s 25,625 7 3,660 23 16 5 5,125 24 18
21 HgEmT 14,115 3 4,705 14 — 1 14,115 2 —
22 BN 11,197 2 5,598 6 — 1 11,197 7 —
23 ] 2 T 10,090 3 3,363 24 — 2 5,045 25 —
24 HEEA HT 9,057 3 3,019 26 — 1 9,057 14 —
25 iR T 8,002 1 8,002 1 — 1 8,002 17 —
26 R 7,802 1 7,802 2 — 1 7,802 18 —
27 IS 5,162 1 5,162 9 — 1 5,162 23 —
28 MIEEES) 4,371 1 4,371 16 — 1 4,371 27 —
29 HSE IR T 4,193 1 4,193 18 — 1 4,193 28 —
30 S TR AT 338 1 338 30 — 1 338 30 —
=&t 2,188,466 162 13,509 — — 83 26,367 — —
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1 i 1,174.26 13 90.32 5 2 7 167.75 7 3
2 kT 973.89 48 20.28 21 14 22 44.26 18 13
3 BEN 952.89 3 317.63 2 — 2 476.44 1 —
4 fET 946.76 9 105.19 4 1 5 189.35 4 1
5 peaLahin] 891.06 55 16.20 24 17 27 33.00 21 15
6 T 855.67 22 38.89 12 7 13 65.82 12 8
7 VLS 746.24 14 53.30 8 4 4 186.56 5 2
8 s 726.46 107 6.78 30 20 57 12.74 29 20
9 + HHETT 590.39 17 34.72 14 9 10 59.03 13 9
10 r AT 584.55 17 34.38 15 10 4 146.13 9 5
11 Br3E 533.11 15 35.54 13 8 10 53.31 15 11
12 i 445.63 8 55.70 7 3 3 148.54 8 4
13 & T 442.03 20 22.10 20 13 11 40.18 19 14
14 — & 431.97 19 22.73 19 12 8 53.99 14 10
15 DG 357.29 1 357.29 1 — 1 357.29 2 —
16 TR 351.91 9 39.10 11 6 4 87.97 10 6
17 ESHIES) 299.61 1 299.61 3 — 1 299.61 3 —
18 RN T 264.89 5 52.97 9 5 4 66.22 11 7
19 o] B 1 192.74 8 24.09 18 11 4 48.18 16 12
20 HEEA HT 170.21 3 56.73 6 — 1 170.21 6 —
21 N 155.19 8 19.39 22 15 5 31.03 23 16
22 st 133.72 7 19.10 23 16 5 26.74 24 17
23 e 110.96 15 7.39 29 19 5 22.19 27 18
24 VLBt 77.91 8 9.73 27 18 4 19.47 28 19
25 H ZE IR BT 44.38 1 44.38 10 — 1 44.38 17 —
26 HOEEWT 37.58 3 12.52 26 — 1 37.58 20 —
27 H T 31.71 2 15.85 25 — 1 31.71 22 —
28 MIEEES) 26.27 1 26.27 16 — 1 26.27 25 —
29 RS 25.17 1 25.17 17 — 1 25.17 26 —
30 S TR AT 9.78 1 9.78 28 — 1 9.78 30 —
=&t 12,584.23 277 45.43 — — 143 88.00 — —
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1 et 126.96 107 1.18 16 8 57 2.22 16 12
2 peaLahin] 53.30 55 0.96 23 15 27 1.97 21 15
3 ik 52.80 48 1.10 19 11 22 2.40 14 10
4 s HT 24.40 15 1.62 8 3 10 2.44 13 9
5 g T 22.49 20 1.12 17 9 11 2.04 20 14
6 T 21.28 22 0.96 24 16 13 1.63 26 18
7 —Z&h 21.21 19 1.11 18 10 8 2.65 11 8
8 e 20.64 15 1.37 11 5 5 4.12 2 1
9 A B 16.72 13 1.28 15 7 7 2.38 15 11
10 r AT 15.81 17 0.93 25 17 4 3.95 3 2
11 Bl 2 7 14.24 8 1.78 7 2 4 3.56 5 4
12 TR 13.54 9 1.50 10 4 4 3.38 6 5
13 + HETTH 12.64 17 0.74 29 20 10 1.26 28 19
14 N 11.82 5 2.36 3 1 4 2.95 8 6
15 i 10.70 8 1.33 13 6 3 3.56 4 3
16 EY VLS 10.69 14 0.76 28 19 4 2.67 10 7
17 faET 9.43 9 1.04 22 14 5 1.88 23 16
18 G 8.63 8 1.07 20 12 4 2.15 18 13
19 TR 8.32 8 1.04 21 13 5 1.66 25 17
20 HuEEMT 8.30 3 2.76 1 — 1 8.30 1 —
21 st 5.52 7 0.78 27 18 5 1.10 29 20
22 BES 3.89 3 1.29 14 — 2 1.94 22 —
23 BN 3.14 2 1.57 9 — 1 3.14 7 —
24 HEEA HT 2.69 3 0.89 26 — 1 2.69 9 —
25 iR T 2.50 1 2.50 2 — 1 2.50 12 —
26 IR AT 2.22 1 2.22 4 — 1 2.22 17 —
27 BE AT 2.14 1 2.14 5 — 1 2.14 19 —
28 MIEEES) 1.82 1 1.82 6 — 1 1.82 24 —
29 H 2= IRy T 1.35 1 1.35 12 — 1 1.35 27 —
30 S S AR 0.09 1 0.09 30 — 1 0.09 30 —
&t 509.28 155 3.28 — — 75 6.79 — —
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